2
5)
4.1
4.1.1
(4.1)
) R*
1%
. (42)

47

) 3 , D
p? V? py Z/{ 6
( ) ,
p = pRT. (4.1)
n kmol
PV =nR'T (4.2)
(R* = 8.314 x 103J K1 kmol_l) .
m kg, M
m R*
P=——T 4.
V M (4.3)

Boussinesq
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p=m/V ,(41)  (4.3)
R*
R=— 4.4
% (4.4)
. ( 28) 75.5 %, ( 32) 23.1 %,
( 40) 1.3 % 2, M =28 x 0.755 + 32 x
0.231 4+ 40 x 0.013 = 28.96. R = R*/28.96 = 287.1J K *kg*
R

4.1.2 Boussinesq

p=f(p,T) T, Do Taylor
, 1
Y| VI |
0 0
p=F0T) = [T+ 2 (p-p)t ok (T-T)
| g W, 1 P
= po+ 8_,0 (p—po) + = (T—Tp)
2 or
1 “a T 1 u@pﬂ ?
- 1+ — 2 —p)+— = (T-T
Po % Op T(p Do) 0o OT p( 0)
1 ”apﬂ
s T a_ _07 )
po Op p
p = pll ﬁa(Tﬂ— To)] (4.5)
a = 1% (4.6)
po OT )’ '
. (4.5) Boussinesq , ,
,

2 80 km
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3
= po[l —a(T.—To) + B(s — 50)], 47
poll 10— To) + B(s — o)) (4.7)
1 " 0Op
p = —— Ds (4.8)
Po S p, T
, S (salinity) .8 , 1 kg
) ﬁ Y « )
(coefficient of saline contraction) .
4.2
Y p V Y
p )
p=F(p) (4.9)
fp, p) = (4.10)
) (4.9)
(4.10) (barotropic fluid)
(4.10)
(baroclinic fluid) : ,
, barotropic fluid (
( ) ) , baroclinic
3(4.6) z -
2 <0

- Po



4.2.1
Dp . .
D= 0 (incompressible homogeneous
fluid) ,
p = const. (4.11)
, . Newton
D
2V VP 4wV LK, (4.12)
Dt
, P=p/p
V-v=0 (4.13)
Vv, P 2
, Navier-Stokes
4.2.2
P, 2 S
]
PP e S-S (414
0 v
: 0 : y
C, Cp v = C,/C,
no,
r_ £ (4.15)
Po Po
dU = TdS —pd(p™?), p=pRT,

dU = C,dT , (4.14)



4.3. o1

(4.15)  Poisson . Poisson
? T7 p J
p Mol (4.16)
po  To '
) TO DPo
(4.15)  (4.16)
v (polytropic exponent)
(=Gp/Cy) (4.15)
(4.16)
ﬂY
=1
~y
4.3
(4.16)
pf/%T = const (4.17)
) TO7 Do
, , To (potential temperature) ,
, z
p(2), T(2) Do ( po = 1000hPa
)7 ) TO 3 z

, 0
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(4.18)

S = C,1In6 + const

(4.18)



